


) Complete the bar model

700 m

| km

&) Circle the lengths less than 600 m.

750 m % km

60 m 6 km

&) What is the perimeter of the shaded

rectangle”

| cm

+“—
I|cm

cm
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0 What is 5950 m less than 3 km?

é )

| cm

5 HI|cm

Som thinks the shapes have the some
perimeter.

Do you agree”?
Yes No
E xplain why.
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) Here are 3 shapes.
Shaope B is a square.
Put the shapes in order of their perimeter

Stort with the greatest perimeter

/ cm > cm
¢ >
2 ch A 12 cm
‘ > B
/ cm
9 cm

3 cm
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&) Here is a rectangle.
Each side is:

a whole number

less than 10 m

Circle the lengths that could be the perimeter
of the shape.

9 m 20m 24 m 28 m

&) Kim cycles 5 km and H0O m.

Jack cycles 3,000 &\\VZ‘&\W/&
ack cycles o, m.

<D 2

How much further does Kim cycle than Jack?
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(&) A rectangle has a perimeter of 24 cm.
The length of the rectangle is 10 cm.

The opposite length
is also 10 cm, so the width
must be Y because

O+ 10+4=24

What mistake has Teddy made?

é )

- J

What is the correct width of the rectangle?

cm
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Answers

O 700 m 300 m

The blue shape has a greatfer perimeter

O c (4 com), B (20 em), A (8 om)

o HEEEN

0@y ()
o

,900 m

@ Teddy has forgotten that the rectangle has four sides:
O+10+2+2=24
The correct width of the rectangle is 2 cm.

White
Rose
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